Math 20200
Calculus 11

Lesson 15
Improper Integrals

Dr. A. Marchese, The City College of New York
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Work on this problem
on your own




|

('

I

05T

-0.5T




& [eom s

Work on this problem
on your own

=2 (@) 2
]Cm‘ﬁ{— it = [C,«mwou +JUD7TMH
e S()\\'\' s o
le\\{ pATSE
l\/\(..ao)oo\
0 L
=~ j UHTr bt + . f LN Tt d+
0\‘))—30 O e
. 0 . b
= |6\\W~\)_po % Sw\r\q& A\ \‘\gvi\)x "‘Tx gw\T\’c]o



= l\ ;
&: D \:(Jl; O(O\% = (“-ﬁ S\v\“&ﬂ*' \;‘f:y{(%; S\v\l’\\% = (Oﬂ

™ o
AT A Mowa
N | WA — S\ T\b
\a:;/'—_/ VL > . ’
= \/\/\_/
¥
LN DAC
050\\05\\{\0\ oSci\\o\&\N)

YU se views \sson o ?0./’7\/\& c,ww()ar'usm SN
,C\\/ \'W( \V\W\S



